Rajasthali Law Institute

Prelims test series
IPC PAPER-10
(Section 1 to 511)

1)"37ORTY Teh QAT el &, St [ATe garT ANEy § a2 A &
Ao et & i, aat & gy &1

(a) SolohEclel o

(b) EItheT &

(c) 9T3Us o

(d) 3TfEeaT o

1) "Crime is an act which is both prohibited by law and
contrary to the moral sentiments of the society.”

(a) Blackstone

(b) Stephen

(c) Pound

(d) Austin

2)" T8l Y &l [ATNCY el AT HATG TR et dTell dlieh [afe &
Scorde] H fhdT 3T 1 ORI & 1" Tg U -

(a) ST.Uh. TEIthed T

(b) TaferaeT selheelet I

(C) g=TT AT HT

(d) el &1

2) "An act committed in violation of a public law prohibiting

or commanding any act is a crime.” This statement is-
(a) J.F. Stephen's



(b) William Blackstone
(c) Henry Main's
(d) Kenny's

3)"Ueh HYHR THEH R 2maaT A1 38 JNATY IfFaIT garT hr
ST &, 379X &, IE he 8-
(a )éz?ra:r

3) “A misdeed in which advocacy is done by the Government
or persons subordinate to it is a crime”, this statement is-

(a) baton

(b) Austin's

(c) ketone

(d) Stephen's

4)3ToRTTR A 3 9fq AT TSEhITT Sl ISR fohT B-
(a) IR & Tafer 3T o1

(b) HRA & Faled =araTeld o

(c) 37iS T Jethesa HfATT =

)

( HYF AT AR & Fafed ~ararerd =

4)The functional approach towards criminal law has been
highlighted-

(a) Law Commission of India

(b) Supreme Court of India

(c) Wolfenden Committee of England

(d) The Supreme Court of the United States



5)fdeATl T H & H&T hYUeA I SHEI hifoTT-
(a) 3T AT T s Fa §
(

b) 3TURTEN Ueh LN Fe &
(c) 3T JTATA: T HaATST faeh e
J

(d) 3TRTEr 3fard: Teh 9H AUt ed &

5)Indicate the correct statement among the following-
(a) Crime is essentially an immoral act

(b) Crime is an illegal act

(c) Crime is essentially an anti-social act.

Is

(d) Crime is essentially an anti-religious act

6)" 31T 1 T o8 &, 8] STHRT I 8" TG U g-
(a) E%heT &1

OEELED

(c) 3TTEcs T

(d) SheAT T

6)"Intention is the goal of action, motive is its source" This
statement is-

(a) Stephen's

(b) Bentham's

(c) Austin's

(d) Kenny's



7) e "TareH AT $iie RaA A 79 f&e Rar 3ot wefe
&1 Uk Slfseol [AcHTd &, af [AFaAfaf@d # & &i- T U SR
Wﬁa@rm@a@ﬁm%’?

(a) "HT R 3TORTY T U TG dcg & 3R 5TF T FIS 3R
oTel g1 HehT|

(b) AR SHIefeT & e MR aTfIcd T dIled FH2MT 'HE RAT
agl

(C) 3TIRTET T ITSeT hial o TV T LT UF 'HE RAT' T glear
T CIR

(d) 'TFeH R 3TGRTET T ITSeT PleT o ToIT HLT 3T gl
gId|

7) If 'Actus non facit rium nisi mens sit rea’ is a cardinal
principle of criminal law, then which of the following
statements correctly reflects the above principle?

(a) 'Mens rea' is an essential element of the crime and without it
no crime can be committed.

(b) Criminal liability under Indian law always implies 'mens rea'.
(c) To constitute a crime, it is mandatory to have 'Actus Reus' and
'Mens Rea'.

(d) 'Actus reus' is not always necessary to constitute a crime.

8)feAd=T H & leT-AT dcd 3TIRT T Teh AT dcd olel g2
(a) AT 9Tofr

(b) ey

OEILLUBEIR]

(d) 3e6T

8)Which of the following elements is not an essential element
of the crime?



(a) human animal

(b) dysentery

(c) criminal act

(d) purpose

9)3TRTTeh Hel:FeUf 1 RAyia (STiergad 3Th AFRAT) IR &
eI AToTal 31 & fre Hafere el &2

9)Doctrine of mens rea is not related to which of the
following categories of crimes?

(a) Related to fraud

(b) related to physical injury

(c) Related to crimes against the state

(d) Strict Liability

10). TSI 3R TAATSY @ IR P fAFATo R HTaTh dcd g~
(a) Ucod F
(b) TS IT 3 TTed FI
(c) aTSYuT 3T
)

( d) ST 3 ST o wEATIT gaT &

10). Mark the wrong answer: Following are the essential
elements of the crime-

(a) voluntary work

(b) Voluntary or involuntary action

(c) Bad intention

(d) Omission is also included in the work



11)3TRTTe Tafer & 37ceTd ahel RIS & dTeay &-

11) Successful prosecution under criminal law means-

(a) Acquittal of the accused

(b) acquittal of the accused

(c) conviction of the accused

(d) punishing the accused

12)eT (A): ITIRTE STV GSATT g Tob [T & 3T 39T fohar

AT

T (R) : 39T, THATS I sifdes Ad=1T & fIT 3/@eT B

(a) (A) 3R (R) al=T Ter & 3 ( R) (A)am??rq:qwaww%l

(b) (A) 3R (R) cl=AT HeT & I (R). (A) T HeT TSN 8] & |
)(A)H%’r% T (R) ) aTereT ¥

(d) (A) T §. qm (R) T&r &l

12) Statement (A): Crime is punishable because it has a
remedy in law.

Statement (R): Crime is intolerable for the moral
consciousness of the society.

(a) Both (A) and (R) are correct and (R) is the correct explanation
of (A).

(b) Both (A) and (R) are correct but (R). (A) is not the correct
explanation.

(c) (A) is correct, but (R) is wrong.



(d) (A) is wrong. But (R) is correct.

13). G "l H fohdeT e AT, Sooll Ggel A " A e A F
FIT HTAYT el 872

(a) eTfos fafer 1 8{Tered JoITa & 9] o BT

(b) &Tf0se fafer hr FHR STEIT ST JAT=T AT

(c) A& ¥ AT (Al TaHfaferd)

(d) fafer 7 fARaadr

13). Which of the following is not meant by the formula
“Nalam crimen cine lege, nalla poina cine lege”?

(a) Non-applicability of criminal law with retrospective effect
(b) Criminal law should be strictly interpreted

(c) Non-accessibility of the method

(d) Certainty in law

14). TR eT¥cd & 54 @i & "dhae Hed & =16l Aol
Hor:TEafa o, o1 A iaa fohar arar a1-

(a) FFT FATITAIT SaRT

(b) FIHT Il ~ITATAT SIRT

(c) TR YFSR AT GART

(d) FIRAT ST earr

14). The principle of criminal liability of “not only the act but
also the culpable state of mind” was developed in-

(a) By equity courts

(b) By common law courts

(c) By Star Chamber Court

(d) By Curia Regis



15)fAFAToI I H & hieT 3TIRTE T TATD ocd el g2

(a) TaT®r & 37efieT I Tt & ToIT aTe Ueh ATl

(b) Y HTAT & HeT H IR

(C) U HTeTd & R H gAY e ol IR &Tfc

(dl) EXTRI T T el o TIT TTE 1 AT SaRT fohdlm SATT 32T
el

15)Which of the following is not an essential element of the
crime?

(a) A human being bound to work under law

(b) mischief in the mind of such a person

(c) damage caused to another person by the act of such person
(d) Whether the work is done by the person to fulfill his intention
or not

16)Arfaf@d & & st 3R eTRIcT Y 392 AT AT 872
(a) TIIT 3T

(b) 37T UG 3T (JR) A HG FHYeT T &THT

() 3T TN T AT ToleT TN Foh Y 1 bl 3TeeTS AT RT3 AR Tl
J

(d) S &1 fafer garT gfafeer gl 1 A1

16)Which of the following is not an essential condition of
criminal liability?

(a) free will

(b) Ability to differentiate between good and bad.

(c) Knowledge of the facts on which the goodness or badness of
an action depends

(d) Knowledge of the act being prohibited by law



17) FHT-FHAT 3R dd Y TSI 8T & Hel &l dg JTRITh
m:@ﬁ%muwﬁ?mmwe’rlﬁ@rﬂmﬁ%-
a) GJFd c1i&ca &
( )qﬁﬁﬁaaﬁ—ﬁ:
(c) oK aTi¥cd &
(d) T & g dcd &

17) Sometimes an offence is constituted even if it is not
committed with a criminal mindset. Such cases are-

(a) of joint liability

(b) vicarious liability

(c) of strict liability

(d) State's responsibility

18) ATl @ arel # & hil-ar arg "He:FFgfa” (Haian) &
ﬁlaﬂmé:qasﬁa?rﬁm?r% ?
(a) IRTT TATH 2. Teore
(b) S5 §=ITH I3
( ) So8 TATH Rreeree gt
(d)

d) 3ugerd aef

18)Which of the following debates is related to the revival of
the theory of "mind state” (Mansriya)?

(a) Sheraz vs. D. Rutzen

(b) Brain vs Wood

(c) Brand vs. Winchester Corporation

(d) All of the above

19)3TR. IATH =g & JaoT & =g F' f0sd il FT 3TUR?
(a) =8 &1 fATNCY F1F HI=AT



(b) = T 3713 T HLAT
(c) o= 3T STTeT ST AT 3TIhcd FI=
(d)ﬁ—awmmmﬁﬁwam

19)Basis for punishing Prince in the case of Prince?
(a) Prince doing prohibited work

(b) Prince's illegal work

(c) Prince deliberately committing civil tort

(d) Prince's work being illegal and prohibited

20). Wﬁﬁﬁﬁﬁ%ﬂﬁﬁﬁ%@ﬁﬁﬂﬂlmm
IR H 9dT oIemAT 9 $S Ul F—I%’ruml ©: dY o SoIR el &
q%m?rm%mﬁqaﬁ’amwmlmaéWmaasqéé’rqﬁr
AT 31T 3T 3R Teett OF G faTe #5eY 3T e e | Teadl-

(a) gfafdaTe T & 76T & FAfeh gurerd =7gt Tl

(b) efafaarg I el & Fifeh 38T STeT-s5Teht gaxT fadrg fondr|

(c) afafaarg & ardt & sFifeh 3aerr afa 37eft Shfad |

d) it 8T § FiToh TadTg T TaT H hlg I el ¢ |

20). A husband went somewhere without informing his wife.
He inquired about it but could not find anything. After waiting
for six years the woman remarried. Before the expiry of
seven years the husband returned and sued the wife for
remarriage. Wife-

(a) Not guilty of bigamy because there was no ulterior motive.

(b) Is guilty of bigamy because she knowingly entered into a
second marriage.

(c) Is guilty of bigamy because her husband was still alive.

(d) Not guilty because marriage is not a crime in itself.



21)3Teld 3 ddIsU-
Ay fafer & query & Reernd & Hefafad A 3rvare g2
(a) ATTFP 3TATT

21) Tell the wrong answer-

Which of the following is a valid exception to the principle of
malice in the common law?

(a) Personal heat

(b) Criminal libel article

(c) public heating

(d) contempt of court

22)"=ig 41 cafed GEN & GaRT fohU 91T 1T o felT TR &9 &
STRAICATisT o161 & ST cieh foh 3HeA 38 Y I HTieiehel o TehaT &
meﬁaaﬁl"mmﬁﬁmﬁﬁaﬁ;r—msﬂﬁww
HYAIE g1 g2
(a) 3TTHATT oG

(b) 9T3dC A (3TTT)
( ) Pk = (3YaT)
(d) SITATST b ITTHTAAT

22) "No person is criminally liable for anything done by
another unless he has authorized or consented to that thing
being done.” Which of the following is not an exception to
this rule in common law?

(a) insulting article

(b) Private Nuisance



(c) Public Nuisance
(d) contempt of court

23)HRCY GUS HigdT T fohd URT & 316THR, $H Higd & 3Tt
Wﬁﬁaﬁwwﬁa&wmwa;wsﬂtﬁm
AT 3 3ORTET HIRE P T ferdlt safere gany fehu arv ferdr
39T T &Y oTe] gler?

(a) T 3

(b) &RT 4(1)

(c) ERT 4(2)

(d) &RT 4(3)

23)According to which section of the Indian Penal Code, the
provisions of this Code shall also apply to any offence
committed by a person targeting a computer device located
in India and committing an offense in any place outside and
beyond India?

(a) Section 3

(b) Section 4(1)

(c) Section 4(2)

(d) Section 4(3)

24)fAFT 7 § Fore 4w 7 & 1S Safehet Sy TRHATT T Fehfct &l ud
WWWﬁW?ﬁHWW‘JﬁHﬁg‘&T%Wﬂ

TR 8T T ST Thar &2

(a) AR gug Higdr hr arRT 13 H

(b) HIRATT GUS HigaT hr aRT 11 H

(c) HRCAY GUS HigdT shl URT9 &

(d) AR gus |igdr hr uRT 7 H



24)In view of the nature of the definition of person given in
which of the following sections, homicide cannot be defined
as the killing of a person by a person?

(a) In Section 13 of the Indian Penal Code

(b) In section 11 of the Indian Penal Code

(c) Section 9 of the Indian Penal Code

(d) Section 7 of the Indian Penal Code

25)H AT 3TATH Aol o GaRT 'SgHTe! &' U '‘Shucyde’ &

1T Ueh TYSE 37X T HUETOT TR I7T-

(@) ST oITT FeATH HET T2l Ao

(b) Tl soh 3ATh ST TATH ARTIOT

c) HERh 3Tl Tl Foa3 g
)

o)

(
(d) TaFT ST ST ool TemdeT

25)A clear distinction was observed by the Supreme Court of
India between 'dishonestly' and ‘fraudulently’ -

(a) Nathu Lal vs. State of Madhya Pradesh

(b) Central Bank of India vs. Narayan

(c) Mubarak Ali vs. State of Bombay

(d) Vimala Devi vs Delhi Administration

26)4IRT 34 1S HiZAT H Tl aTeFATer "Fel & FHAY 31T &
37IEIOT H"-

(a) IRT A& T@I &

(b) 1870 o HAYA IFTATAIH SaART ST IT

(c) TeT & & =TeT

(d) 1886 o HATH TATAIA SART SIST 3T



26) Section 34 IPC The phrase "in furtherance of the common
intention of all" used in the Code -

(a) has been there since the beginning

(b) Added by the Amendment Act of 1870

(c) is not here

(d) Added by the Amendment Act of 1886

27T H 8 HleT-TT HYT Tel «Tal -
(a) s TTFATT GART, S o ATHTT TAT & IIEI0T H fohu 10
RIS 1 H, g eATod 39 P & [olT gIiAcarde gIam

(b) s TTFATT GaRT fhT IV R, SAT IR F AT JT AT A
fPT ST & HROT & 3T &, F gieAfad a3ft safea, 39 A1
T 31 T [9aR fhU f9aT, 39 1 & fow arificareii= gier

(c) g AT SaRT fohT ITT Teh ITIRTET A, I G T S 37wl A
q PIS Teh R aleh, 3T O H 1T TEAT9T hld &, T 39 39UY
& forw grffcarehet giar

(d) s cafFdAT SaRT fohT 1T TR SR H Yol FoHT e,
39 Y & AR W faffiest 3rRrat & forv giifcardist g @ &

27)Which of the following statements is not correct-

(a) In a criminal act committed by several persons in furtherance
of the common intention of all, each person shall be liable for that
act

(b) All persons involved in an act done by several persons, which
is criminal by reason only of it being done with criminal knowledge
or intention, shall be liable for that act, irrespective of that
knowledge or intention.



(c) In an offence committed by several acts, all persons who, by
doing any one of those acts, intentionally aid in the commission of
that offence, shall be liable for that offence.

(d) All persons engaged in a criminal act committed by several
persons may be liable for different offences depending on that act

28) ATl 7 A fohg a1 1 A=Y AT aTe; & AT 8 ST STl
g ?

(a) GEHIEST UIUS FT I

(b) #ESS AT T dlc.

(c) TNIeg FAR TV T ATe;

(d) FafoTH g $AR €Y T dTe;

28) Which of the following cases is known as the Indus River
case?

(a) Dukhmohan Pandey's case

(b) Mehboob Shah's case

(c) Memory of Barindra Kumar Ghosh

(d) Case of Swarnim Singh Kumar Ghosh

29). AR &3 TigdT I ¥RT 34 TF URT 149 F FIT 372

(a) URT 34 H hA-H-heT I ATFAIT T BIeAT AT § STeTeh TRT
149 & foIU hadl &I TTFdT T 3Ta2THhdT 8icil &

(b) 8TRT 149 shaol 'TTET &l T’ §, STaTch URT 34 Teh TafAse
3TIRTET ST & 3R SHhT oIl T ITGeTeT il &

(c) URT 34 HiehT HAFENEGRT AT §, STefeh URT 149 H Il
38l hr ATT TATSHT HEETAT T ATaRThdT il &

(d) STRT 34 Y HLY TG & ATY FET SIIST ST 8. STefeh €RT 149
I SIST ST &

29). What is the difference between Section 34 and Section
149 of the Indian Penal Code?




(a) Section 34 requires at least five persons whereas Section 149
requires only two persons

(b) Section 149 is merely a 'rule of evidence', while Section 34
creates a specific offense and provides for its punishment

(c) Section 34 demands active participation, whereas Section 149
requires mere passive membership of an unlawful assembly

(d) Section 34 is not combined with the main offence. While
section 149 is added

30)HRAIT &US HigdT, 1860 T shisT-8) &_T & gus f3fy &r
"OIFad euTa” W'@ﬂ%’?

(a) &RT 70 &

(b) &RT 71 &

(C) URT 75 &
()URT73Td 74 H

30)Which section of the Indian Penal Code, 1860 contains the
“Principle of Atonement” of penal law?

(a) In section 70

(b) In section 71

(c) In section 75

(d) In section 73 and 74

31)'37. TUeh 379 IfFd i 3126l 9T fAshd st & foIw om. €. 9.
T YT 292 & dgd IRITT T 31T, 39T 919 AT T 39 I§
STTThRT g1 AT Tk S gf¥enr 391 [ashy &1 ag 31eeiie oT-




31) ‘A’a blind man was charged under section 292 of the
Indian Penal Code for selling an obscene magazine, his
defense being that he did not know that the magazine he sold
was obscene -

(a)A will be successful because of the mistake of fact

(b)A will fail

(c) The court has discretion

(d) None of the above

32) Ueh G2V fR187eh &1 Getr & delreil & SRTeT Teh oIl ol oTsehl
mwmﬁtaﬁraaﬁraumﬁmlwﬁaﬁﬁmma:
o YT & 31T 3ToRTer fehar 82
(a) &RT 354 FT
(b) &RT 323 T
(c) &TRT 509 T

(d) IS 3TORTEN TET

32) A male teacher by mistaken a girl for a boy and put his
hand in her pants pocket during a search in examination.
Under which section of the Penal Code has the teacher
committed the crime here?

(a) Section 354

(b) Section 323

(c) Section 509

(d) no crime

33)'F', "I I ARCT §, "W TI-9I1T AT & [T '@ & F9 W ar
& ST "' o Hebeh T TIC ol ¢ X Ig A A8 | "' o
ﬁmm%m%



33) 'A’ hits 'Y’, 'B' intervenes, in which the child sleeping on
'‘B's shoulder’ gets hit by ‘A"s punch and dies. ‘A’ has
committed the following offence-

(a)Simple hurt

(b)Grevious hurt

(c)Culpable homicide

(d)Murder

34)rseTaell 'fashddddT -

(a) IR us Eigdr & R 8! fFam ar=am g

(b) HRAT cus Tigdr & gRena fovar ar=m 81

(C) UTITeIYeT & THTT oAal HIAT ST & |

(d) ¥R gus GiedT & FTUROT 379dTE gt HIeAT 1T &

34)The term ‘unsound mind’ is-

(a) Not defined in the Indian Penal Code.

(b) Mentioned in the Indian Penal Code.

(c) is not considered tantamount to insanity.

(d) General exception is not considered in the Indian Penal Code.

35). Tah oig s Aef (S8 TaTY gl Shr GHTIAT 3cdd "&fuT §,
Rfehcde & fdeeT T & foh T <o i HfFA 7R geT &Y ST
W@W%Wﬂﬁﬁmmaﬁwmmm
wmam;rwﬁg@mﬁ?rﬁsaém%m?ﬁﬁﬂ—aﬁaﬁr%l
Rifreas & afireg & §a3 & Rfarad Suet § 3 i a1 e
3R E?




(a) Rfrcaas gt 78T & i Y Aol & fAdea ux fvar arr ar
(b) TRfercae gt 78T &, Fifeh sl Qeft & wrey & forw foram arr ar
(c) Rfrcas SN & Fifeh ST9 a8 AT & o 3TF FI T GHT
IRUTHA Hcg 8 Hehcll & TgT 3TORTEN ol FFATY SITHFA gl X
Hehdl

(d) Rfrcae gl 78t & arifer Jaft i e sraeemd o

35). A thirty-year-old patient, whose chances of recovery are
extremely ‘Less’, requests the doctor to remove the artificial
ventilation machine. The doctor removes the machine
despite knowing the consequences of such removal but not
intending to cause murder. Gives. The patient dies.

Which of the following statements is the correct answer
regarding physician's liability?

(a) The doctor is not guilty because the act was done at the
request of the patient

(b) The doctor is not guilty because the act was done for the
benefit of the patient

(c) The doctor is guilty because he knows that the probable result
of his act would be death, where the consent of the culprit does
not acquit him.

(d) The doctor is not guilty because the death of the patient was
inevitable

36)'a" 3=l Heplol H U H GHAT & TSTHA I8 GH1 T AT
ISR &1 T TS H ' ol IEdiceh THSTRL o ‘&' T IThHT
HLAT g " 3T ITALeTT H W' 9T 3ThHAYT adT ¢ 3 3ugfa
HIRT AT ¢ | FeAfaf@d & & HiA-91 HUT Tar g ?

(a) &' I & & TdecH IR T FiFaerd (ToAsiT) ITavaT &1 3fear
UTCel TRl & i {eh "' T Hed hig ORI 7Ll &



(b) F' PI'T  [a%cH WK FI eATFAITA FfaRET 1 ATFR 9o &
mﬁﬁsaﬁa@wﬁm%aﬁam%m%msﬁwﬁé
3TTeT 1A R ¥

(C) '&' Ud "W & &Il Teh-g& & il ehfercterd (fevait) Sfcetr &
HTORR 6T @A

d) 39 H FIS /el el ©

36) 'A’ enters his house at night, into which he has the legal
right to enter. ‘B' attacks 'A' in good faith, thinking that 'A’ is
a house breaker. ‘A’ attacks 'B’ in self-defense and causes
harm. Which of the following statements is correct?

(a) A does not have the right of personal defense of his body
against B because the act of B is not a crime.

(b) A has the right of personal defense of the body against B,
although B has acted within the facts and thereby committed no
offence.

(c) Both 'A" and 'B' do not have the right of personal defense
against each other.

(d) None of the above is correct

37)'31" 319el B H Ueh QR 'S @1 Ueh A fAaTg oot il
%Haﬁmqaﬁm%‘lw

(a) Hmﬁaﬁa?g@wa:m%aa@-mﬂa%

(b) & GSIROT HT T &

(c) 37 UG T GIedl gl e g

(d) =T & '37 3R T 6T GESROT 1 a1 B

37) 'A' facilitates the solemnization of an illegal marriage by a
priest ‘B’ in his house. Here -
(a) 'A' is liable for the offense of abetment of illegal marriage



(b) B is guilty of abetment
(c) Both 'A' and 'B' are guilty of abetment
(d) Neither A nor B is guilty of abetment.

38)Fﬁwmwmwwmmﬁmvw
ﬁ'aTﬁ?qs T FTH WWWET%%TWHWW Ch
ITHS X T ATceTl qgtud & 1T ST | 'S ol ATl ngtus TS|

38) 'A’ rented out his house to a police officer knowing that
he was investigating a case and the house would be used to
torture a thief named 'B'. 'B’ was tortured. Here-

(a) 'A' is guilty of abetment by providing assistance

(b) 'A' is guilty of attempt

(c) 'A' is guilty of causing harm

(d) 'A' is not guilty of any crime

39)aRA AT T & Teh ARG 'F’ o Teh IUTY FHIXd Pt b
ToIT 3RATAT BerEa®y T8 AR H HIRd TR 37| 98 G-

a) & FIifeh TR ARG H IR fohar aram

b) & FITch HRATT GUS Higdl sy &TATdId hrat I &
SIUGEIN

(c) TohaT ST GehdT § FIifeh 3O IR H FIRd fohaT SIT=T A7

d) FET SETAT ST FehT Fi e IHATST HRA & T &7F T AgT
fopar It ar



39) 'A’, a citizen of Spain, resident of Paris, instigated the
commission of a crime which was consequently committed
in India. He is responsible-

(a) Because the crime was committed in India

(b) because the Indian Penal Code also applies to extra-territorial
acts.

applies

(c) Can be committed because the offense was to be committed
in India

(d) Cannot be held because the incitement was not committed on
the territory of India

40) P @T H ¥ 79 a¥ & 9RO gus Gfgar 7 3mfes
YU &l iEAfeld fhar ar?

(a) 1870 H

(b) 1913 H

(c) 1923 H

(d) 3Ter H F IS 8T

40) In which of the following years was criminal conspiracy
included in the Indian Penal Code?

(a) in 1870

(b) in 1913

(c) in 1923

(d) None of the above

41): IFAAT o Teh TP Y §dT Y &, W hael TR cTiekd 8l
AR ferT v -
(a) I AR gUs Higar T aRT 302/149 # ST SEI ST Fohl &



(b) T AT 2Us Gigar T aRT 302/149 H st ALY 38UT ST Tl
e

(c) T AR &us Higdr T A% arT

302 & N 3gIIT ST ohd &

(d) T AR gus HigdT S URT 302/34 H aIST ST ST Hohdl &

41)Six people murdered a person, but only four people were
arrested -

(a) They can be found guilty under section 302/149 of the Indian
Penal Code

(b) They cannot be held guilty under section 302/149 of the Indian
Penal Code

(c) They are only sections of the Indian Penal Code

can be found guilty in section 302

(d) They can be convicted under section 302/34 of the Indian
Penal Code

42) Ueh ST T gedT Aol GS G hl a1 | FHbIeT Hifoleh
SATeT-§gTehT, ATSTELT ol UG H HcY Bl T T el & | 3T 1
3RTY fRaT g2

(a) IS 3TORTET T

(b) Tz sfer &ar

(c) olteh ATRRT T HIAT FAT

(d) Rfte

42) A person was murdered by giving a poisonous needle.
The landlord deliberately informs the magistrate about the
death due to snakebite. What crime has he committed?

(a) no crime

(b) Giving false information

(c) Misleading a public officer




(d) Mischief

43)'37" Ueh STaTel oISehl T gHieaT H FHcg &1 il § oAl SHehr A
S o fohallX Ueh ahlel & UST & | HTATALT H TR 'S 38 AT
QIR T AT ¢ | gl 'T'=

(a) YR cus Gigdr & 3refa fondT ot 3roRrer & forw 3TRerR 78T &
(b) $TRAT us Eiedr & 31efeT TATCHT 3R & foIT 3T gYamm
(c) ARAT &Us Tigdr & 31efieT SolTchaT 2T YRT 297 & 379TeT &
foIT 3aeRT glem

(d) R gus Higdr I &RT 297 & 3refaT 39T & T IR
SElll

43)'A' A young girl dies in an accident and her body is lying
in a corner on the roadside. 'B' out of passion makes
physical contact with her. Here 'b’-

(a) is not liable for any offense under the Indian Penal Code

(b) Will be liable for the offense of rape under the Indian Penal
Code

(c) Will be liable for the crime of rape and section 297 of the
Indian Penal Code.

(d) Will be liable for the offense under section 297 of the Indian
Penal Code

44)F, TH, ATATIE FoITH HAGRTSE T «I1g TSI I Y g-
(a) [afer= afFaal 1 39T F=T




44)The judicial precedent regarding K.M Nanavati vs. State of
Maharashtra is-

(a) To use legal powers

(b) Grave and sudden provocation

(c) From private defense

(d) sudden quarrel

45)4RT 300 & 38 WUS H HcF FIRA Fel BT IR AT 161 672

(a) FUH:

(b) gfadrard:

(c) JrTa:
(d) T

45) Intent to cause death is not necessary in this clause of
Section 3007

(a) Firstly

(b) secondly

(c) thirdly

(d) Fourthly

46)'37" 35 21 AV 3R 3GHT IfAFT ‘T 37 19 IV GlAT ATHGAT A
T IR Bl & | '37", 'S &l §cT HY ol &, Wed BFAT geal 8 3191
I =T8T ARCT &, o« '37" oF 37O fohaT-

(a) gcar

(b) 3RS ATAT T ST foh AT T HIfC H TgT AT &

(C) ATcHG AT hl Yo
(d)

d) SIS 3TIRTET ST

46) 'A’, aged 21 years, and his girlfriend 'B’, aged 19 years,
both are ready to commit suicide. 'A’ kills 'B’, but does not



kill himself due to loss of courage, then 'A' has committed
the crime -

(a) murder

(b) Culpable homicide not amounting to murder

(c) Attempt to commit suicide

(d) no crime

47T &3 HigaT, 1860 3 ¢IRT 304 & &l ST ITAT-
(a) 1870
(b) 1880
(c) 1890
(d) 1913

47)Section 304A was added to the Indian Penal Code, 1860-
(a) 1870
(b) 1880
(c) 1890
(d) 1913

48)"eTUSe fafRIAT & ATAAIOT g GUS Higal hl €RT 309

ITATAZAT el TR & 5T &1 A9 ¢ | T§ X Ud fadeh Uged URT &

Ud ST YRUIH Teh UH AT ol GIgT GUS ol ¢ oif Tgel JTctell

STol bl & UG TTcHBG AT Sl Hohel o hRUT holfehd al el 1" 3
feam aram 8-

() STeTd AT TATH AT Hh SfosAT

(b) 3Tsgel ool TITH FET 3T TSI

(c) UT. THATH ST FfAdT 3T $1osaT

(d) FXegATY Erare S8 gRIAToT

o]




48) "Section 309 of the Penal Code deserves to be removed
from the book of laws to humanize the criminal laws. It is a
cruel and indiscriminate section and results in giving double
punishment to a person who has already suffered torture and
is at risk of committing suicide.” Being stigmatized because
of." The said decision has been given-

(a) Dalchand Sharma vs Union of India

(b) Abdul Sultan vs. State of Gujarat

(c) P. Rathinam vs. Union of India

(d) Surendranath Diwan vs. Haryana

49)fhY dIc H AR 3TIdH AT o el & Toh Id FHT 31T AT
¢ foh YR cus Tfgdr T °aRT 309 FI TG GaRT felehTel ol
I1fgu?

(a) 3TTUT HTg ATATTIT TATH JRT

(b) FATT I TATH G T

(c) 3T =t

49) In which case has the Supreme Court of India said that
the time has come that Section 309 of the Indian Penal Code
should be removed by the Parliament?

(a) Aruna Ramchandra Shanbag vs. Union of India

(b) Gyan Kaur vs. State of Punjab

(c) Both of the above

(d) None of the above

50)'sh" 3791 ShIX GART ATl H S ST JgT UT| TEd H 38 '@ THelm
3 fAdcs RaT o 98 38 3ooiel doh ofdl Il | " o 3TRT fadcsT




TR T TorT, oifched 3oalel Ugdel WX dR-9R hgal I AT '@ I
TET LT 3ANT| T T SToT & [Heey 'F 38 e d& o I e
(a) ‘P, @' & TIGIOT FHT &Y &

(b) ' S TIRTY LT T &

(c)'&®', @' o IUGIOT I GINT &

(d)'&F', "G T TSI TR Il et HI G g

50)'A’' was going from Bhopal to Indore in his car. On the way
he met 'B' and requested him to take him till Ujjain. ‘A’
accepted his request, but on reaching Ujjain, despite
repeated requests, he did not drop ‘B’ there. Against the
wishes of 'B’, ‘A’ took him to Indore. Here:

(a) 'A' is guilty of kidnapping 'B'.

(b) 'A' has not committed any crime.

(c) 'A' is guilty of abduction 'B'

(d) 'A' is guilty of causing wrongful confinement of 'B'.

51)f5e T & & Pl "gHAT T TSI T8l 82

(a) 37, 'T ¥ IE Fga g0 "& ¢ N Tk B 3oT AT &

(b) 37, ‘T T ST, A 2 e dhy erFE ST ¥

(c) '31", Ueh AfGeT '&" T 3T TgATA o ToaIT RIThcar graqor &Hxdr
3

(d) '37"'§" & T H Sc-Uc2 thahdT &

51)Which of the following is not an example of ‘assault'?
(a) 'A' picks up a stick, saying to 'B' "l will beat you"

(b) 'A' threatens to see 'B' later

(c) 'A' examines a woman 'B' medically without her consent.
(d) 'A' throws bricks and stones at 'B's house

52)fAFATATET H A ShleT HTIRTTF Tl I 3GTEI0T Al 672
(a)'A", 'B' & I YHT 5|



(b) 'A’ Ueh ATEeI 'B' &1 HUC §eT &l & Tolad 34 &MeT glar g
() 'A", 39T HeFehT 'B' T G e &
(d)'A', 3T aTedT 3 SeeraT U= STel 2T &, Torae ‘B #7eT T@T T

52)Which of the following is not an example of criminal
force?

(a) 'A’ spits on 'B".

(b) 'A' removes the veil of a woman 'B' which upsets her.

(c) 'A' shakes his fist towards 'B'.

(d) 'A' pours boiling water into the bucket with which 'B' was taking
bath.

53)fAFATfohd & & 37eTald UL hil 872
(@) 3TCI€TUT$r

(b) SellcdaT
(c) TRT
(d) gWrrrUTaar

53)Which of the following is a continuing crime?
(a) Abduction

(b) Rape

(c) theft

(d) abetment

54)H AT gUs Tigdr s et fohg a7 &, '@ #A9 = F " g23ist=lt
& TOIT 3TUTCaa ST SIIgIT AT TSeholieiienor st afoTa fonam arar
g?"

() &RT 363

(b) &R 364 3

(c) URT 363 & &




(d) ¢TRT 364 & &

54)In which of the following sections of the Indian Penal
Code, 'kidnapping or maiming a minor for the purposes of
begging' is described?

(a) In section 363

(b) In section 364

(c) In section 363A

(d) In section 364A

55)STeT 3TIeFcl Teh oISehl sl Tehseh{ TeTqdeh grr%u’ra%rsﬂtﬁr
ST STHeT O TR T | 3 37eT T Qelleh 3R &), 38% S
ol 31T 3R 9a2UT ST TATH e o9, elfche] 38D Ugel fob ag 3T
I H el g1 9TdT, IS<hl bl IFTHTT TRT g 3T -

(a) ITAIFT TATHR T AR T ST &

(b) TRTFT TSI ST SToolT 9T T ST &

(c) TTAYFT TellcshR S TATH T T §

(d) ITRAIFT TSHT I Tooll o THTT T NI &

(¢

o

o

o

55) Where the accused caught hold of a girl and forcefully
took her towards the bushes and made her fall on the
ground. Took off her inner dress, lay down on top of her and
tried to penetrate her, but before he could succeed in his
task, the girl started bleeding -

(a) The accused is guilty of preparation for rape

(b) The accused is guilty of outraging the modesty of the girl

(c) The accused is guilty of attempt to rape

(d) The accused is guilty of insulting the modesty of the girl



56). ~ATIH I o1.TH. TAT &l 23 STeTall, 2013 I RUIE & "3r9dwT
Tl s GE & R & FAT HEJ (A 1 82

(a) Seg TATHT ATAT ST

(b) 3= TifeIeh §HIT HAAT ST

(C) 3¢ AR SUg HigdT T YRT 354 T {URTET AT ST

(d) S HATAGI T HIAT ST

56). What does Justice J.S. Verma's January 23, 2013 report
recommend about "non-traditional sexual relations?"

(a) They should be considered rapists

(b) This should be considered as sexual assault

(c) These should be considered as crimes under section 354 of
the Indian Penal Code.

(d) These should be considered defamation

57)"37" 3791t STAT "S" A 918 S T g ST § 3R 3gh! 39
Y FEATH el b [T SR T gl 37" & "™ i faarg & g1ar
fareard feemar 3R swYequl [Adres 6T o T o Fi, foaa "o &
TYRETH &1 91T 3 a8 "3 & AT a0 faaTee geet 2| are o
"3 & 3! el Ucedl HTeled H SohR Y 1GT| 3" of [hd JhX
T 39T fohar g ?

(a) IellcshX

(b) STR&HH

(c) AT T 2fteT T T ofoall T

(d)"31" o IS IR Al [T

57) “A” promises to marry his student “B” and induces her to
have sexual intercourse with him. “A” induced “B” to falsely
believe that she was married and also performed certain
fraudulent marriage ceremonies, causing “B” to believe that



she was the legally wedded wife of “A”. Later “A” refused to
accept her as his wife. What type of crime has “A”
committed?

(a) Rape

(b) adultery

(c)Outraging a woman's modesty

(d) “A” did not commit any crime.

58)3TR 1T gUs HigdT, 1860 o 3T gus fafer (weiere) rfafags,
2013 o 9RT 375 -

(a) TNfAT fhaT gl

(b) gfaEiua fRar gl

(c) THATST Y fear &

(d) FASR X feaT g

58)Under the Indian Penal Code, 1860, the Criminal Law
(Amendment) Act, 2013 amended Section 375 to-

(a) has been modified.

(b) has been replaced.

(c) has ended.

(d) Have weakened.

59)HYT ale Haferd 8-
(a) 9dcod

(b) &=T

(C) TeATcHdT
(d) eI

59) 'Mathura case’' is related to-
(a)Attempt



(b)Murder
(c)Rape
(d) Robbery

60).8TRc1T cUs Higdr, 1860 & 3refle [T & & &hleT T 37T
IR, FFafd, Tarfa a Ha=sil & faeey 52 #Tad: -

(a) eIYgIUT ohl YT

(b) 3TIEUT T TIRTY

(C) STelTeehIY &hl 3TURTY

(d) T ST 3TIRTET

60).Which crime in the Indian Penal Code, introduced in 1860,
is against the body, constitution, nomenclature and
sentiment? Mainly -

(a) Offence of kidnapping

(b) Offence of abduction

(c) Offence of rape

(d) Offence of cheating

61)HRcII GUS HigdT T fohd €T & 3fcAeTel GohTeT A Ueh o
TR AT GUSAIT §?
(a) &rRT 379

61)Under which section of the Indian Penal Code is theft of a
computer from a shop punishable?

(a) Section 379

(b) Section 380



(c) Section 381
(d) Section 383

62)Si 15 Y cATFA S[CHAN IR el & 36T H 3R o[ T ATl
o Y & 3T IR F HTY Hgard Bl &, g ardy @Y §2

(a) 3T Blal T

(b)msﬁﬁraﬁr

(c)wg’lﬁrw

(d) TR &=t T

62)Whoever associates with four others for the purpose of
committing robbery and carrying away the plundered
property is guilty of?

(a) of being a dacoit

(b)of being a robber

(c) of being a thug

(d) of being a thief

63) AT & & SlA-HT SR ‘e[ T 'Sehcll" o & X TS
AT 8?2

63)Which of the following factors makes the difference
between ‘robbery’ and 'dacoity’ evident?

(a)Time

(b)Property



(c)Number of criminals
(d)Place of crime

64)FIT SIS SATFd Tl T T HATT o dLT H T HY Tehell

64)Can a person commit a breach of trust in fact regarding
his own property?

(a) yes

(b) no

(c) Will depend on the circumstances of the case

(d) Will depend on the discretion of the court

65)Tch 92T, TT8 TTRY 9T &, Tg STIGLlT Y Toh ag Teir A &
HeF o, Tohdll 9oN & HYT Xl &, 0 T8 il o-

(2) STl o fareesr roTer

(b) 3Ugia

(c) B
(d) RfSe

65) If a prostitute, who has a communicable disease, has
sexual intercourse with a man under the pretense that she is
free from all diseases, then she does-

(a) Crime against nature

(b) Hurt

(c) Cheating



(d) Mischief

66) AT gus Higdr, 1860  [HT & ¥ Hi-TT VAT TR & AT
R, AT, EIMA IAT 9T & T Gafd g2

66) Which of the following is a crime in the Indian Penal
Code, 1860 which is also related to body, mind, reputation
and property?

(a) Offense of cheating

(b) Offence of trespass

(c) Offence of mischief

(d) Offense of defamation

67)'T" oI Tg SETAT Y b ag Hiet TSI A & Tov 7T gear
fdegd Az T 3R O AT 8, 3 ST H TR & GgR YeAdIT, EX H
STORT eheeY O T T ST $SdaT <1 TR T & & o
ORI & ToIT R T JTTRASTeT fohaT o1 el £2

(a) Shael 9 ieeT

(VEEEEIEIGEIR

(c) 378 TR AT 8791 H U1 & FALT

(d) 378 3T 2T TR

67) 'B' got the doors of the house opened under the pretext
that he had come on behalf of Madhya Pradesh Electricity
Board to do meter reading, and upon entering the house,



stole the handbag lying on the chair. Which of the following
crimes is committed? 'B' can be prosecuted for?

(a) Only housebreaking

(b) House trespass only

(c) House trespass and entering the house by fraud.

(d) House trespass and theft

68)'A’ 51 HFY T STell Selerciloleh GEATdSl Sellehl 3H Gl &
TR IR HATel U X ol &1 "A’ o leT-HT 3R IR haT §?

(a) Sel
(b) TR
(C)Wgﬁﬁw
(d) 39 H & IS Tl

68)'A' has obtained the goods on the basis of that document
by creating a forged electronic document on the computer.
Which crime has 'A' committed?

(a) Cheating

(b) Theft

(c) Criminal misappropriation

(d) None of the above

69)FX I Ush U T AT &, HA 39 el gl &7 | HA g
(a) T8eFRT AT 39T &

(b) e & TATAT T8l 31T

(c) BreT TR g

(d) Tg ET ST ITAT b R ST I AT ok 39 Aaras Fr el
Sl 38! G el H TATAT ST




69)l have a one rupee coin, | changed its shape. | did not
commit any fault because-

(a) The coin is my own

(b) The coin was not moved

(c) Is a small coin

(d) It was not stated that my intention was to change the face of
the coin and to circulate it in a different face.

70)cfafaarg fafer ey A€ il T

(a) Te 3o Aa:feufa A8 &

b) GERT/GET UTd/Teeil Ueh &1 Heblel & g6 7 W@l &
c) ATE FH & AT HEHTIATIGH HRT &l fob qfcl/

q—rﬁﬁraﬂl—ag'é%

(d) 3T & I3 T A&

70)The law of bigamy does not apply where-

(a) If there is no mens rea

(b) The second spouse lived in the same part of the house
(c) If there is good faith reason worthy of belief that the
husband/wife has died

(d) None of these is correct

71) 9IRT 498, AR &3 HigdT, 1860 H hisT-&T ‘HE AT dca
HTATFT TG § GIFd 872
(a) |RI ATAIIOT



71) Which 'mens rea' element is used explicitly in Section
498A, Indian Penal Code, 18607

(a) intentional conduct

(b) Neglectful conduct

(c) intentional conduct

(d) reason to believe

72)ARAY gUs HiZdT ST &IRT 498-a ol F4T ATATATAT fopam arar
22 -
(a) STF TAaTE & HATH Ushel & AT
(b) &gt HcF & HIHC Uhad & foIw
( )WW#WW%W
(d) 3uereT Hafr

72) Why has Section 498-A of the Indian Penal Code been
enacted? ,

(a) To prevent cases of child marriage

(b) To prevent cases of dowry deaths

)
(c) To prevent cases of sexual harassment
(d) All of the above

73)'37" Ush ATgell 'S &I I$TUTd PR Dlel o AT H Ueh [a¥ell ar
&aT &1 Ig UTAT ST ¥ & AR & e A€t oY | Tgi-

a) 37 T T e AeT &

b) 37 WA FTa™T &

c) '3 gATH Gl &

)

(
(
(
(d) 31 Ty 37oRTer &7 aI STET B



73) 'A' gives a poisonous medicine to a woman 'B' with the
intention of causing abortion. It is found that woman 'B' was
not pregnant. Here-

(a) A is not guilty of attempt

(b) A is guilty of attempt

(c) 'A' is guilty of murder

(d) A is not guilty of any crime

74)'Y'aﬁrﬂ—qaﬂﬂﬁwﬁa:m%mﬁ'x3ﬁﬁwmwﬁ¢ﬁgé
zh?ﬁéé‘\aT%l "Y' g el @r gl X A
a) IS 9T el [haT
(b) &l &l YdceT fohdT
(c) 3TURTTS HIeTd I ST §cdT oTal &. ol Tcel TohdT
(d) BT T GEIROT fehaT

74) With the intention of causing the death of "Y', ‘X' gives
him powdered sugar, mistaking it for poison. 'Y' He eats
sugar. ‘X'

(a) Did not commit any crime

(b) Attempted murder

(c) Attempt of Culpable homicide not amounting to murder.

(d) Abetted murder

75)FAfo@d J & Sia-37 IR 3R AT § ?
(@) S St ST dA
(b)a‘a:afrgﬁmﬁra?réw

(c) Farerehl & HeehioT & felt ST STl
(d)mﬂ@wa?wésﬁmaéam

75)Which of the following preparation is not a crime?



Preparation to rob a bank
Preparation to commit dacoity in bank
Making dies for counterfeiting coins

(a
(b
(c
(d) Making dyes for counterfeiting Indian coins

)
)
)
)

1.) BT &1 3= fo@rge uX &a1e 8T A1 v|
a) cgiad drde

VEUGEIEED

c) #ATddIdeh

d) 9 g gl

P U e

2.) 3TSTohel ARAIT YgaTdT deof 31T g
EUEGEIEED

(NGEIEED

(c) HATg drd<h

(d) T gair

3.) A4l & feall 7 ST Sedl ST & & |
EUEGEIPED

SUGEIEED

(c) &ATd dId<h

(d) T geir

4.) [AsTarae a1 &-
(a) 8H

(b) &
(c) it
(d) E&T

5.) AT H f[dhR 3ol g &-



a)TTTF
b) PR faHTFaar &
c) gEY

d) 3o & IS A8

6.) GFaHardsh TdaTH ddiu-
(a) YT

(b) BT
(c) S
(d) dg

(
(
(
(

7.) AATIT@d erser & Wondes fohar Sifest
(a) QATAT

(b) 3aTeT

(c) ofalTer

(d) IATAT

8.) "AT STeleh ! G Gl ¢ |" AT H oAl fshaT £2

10.) T, ¥ ot AT FEeTd §2



12.) 21, ¥, 9, & PleI-8 cTsTel hgelld a2
(a) Tty

(b) Teff

(c) TEsT

(d) Tr-eT



oy e
[fager gfer
MR

o I piping hot tea in pipkin Yesterday in a grandeur
hotel?

A. did you drink

B. do you drink

C. have you drunk

D. had you drunk

2. the boozer barber ........ his finger in intoxication condition
while he ........ off my hair.

A .had cut,was chopping

B. cut,chop

C. cut,was chopping

D. cutted ,was chopping

3. my chums ........... to our palatial house to play ...... chess
with us.

A. will have coming ,the ,

B. are coming ,zero article

C. comes,the

D .had been coming,zero article

4. the flight ............ in inclement weather before we turned up
pairport in a hurry.

A. will have taken off

B. had taken off



C. is taking off
D. was taking off

5.1 cicennnns just ....... a typewriter at dirt cheap and | am Learning
typing now.

A. have hired

B. had,hired

C. am, hiring

D. no word, hire

6. the strict warden ......... Into the dingy room to see what the
rowdy students .......

A. go had been doing

B. went , was doing

C .gone had been doing

D. went were doing

7. this adroit driver ........ with us for ten years
A. has have been working

B. works

C. is working

D. will be working

8. at the moment the boys ....... the girls and ....... lewd remarks
in a lush gardens at dusk.

A. were molesting,passing

B. are molesting ,passing

C. will be molesting ,passed

D. will have molested,passed



9. he .......... lamenting over his fiasco and shedding tears
since morning.

A.
B.
C.i
D.

= OO0 W@ > o

OO WP

OO wW>»QR

was

will be

IS

has been

. he ........ his calf from adjacent pen eight days ago.
. had rustled
. Rustled
.will have rustled
. had rustled

. my stubborn brother ........ visited ....... Tajmahal yet.
. has not,a

has not ,the

. iIs not,the
. did not ,the

. While she ......... a sonorous song someone ....... a stone.

was singing ,threw
is singing,threw

. will be singing ,throwed

has been singing,thrown

. when a tyro doctor checked the senile patients .he
..already .......

. has died

. had died

. was,death



D.is, dying

14. neither praise nor blame seems to ....... him.
A. effect

B. affect

C. effected

D. affected

15. a deft writer ........ his nascent books every month to earn
colossal profi

A. write

B. writes

C. is writing

D. wrote



